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Trhaci nyty s velkou hlavou
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3,0+45
45+6,5
6,5+8,5
8,5+10,5

1,0+3,0
3,0+4,0
4,0+5,0
5,0+6,0
7,0+8,0
8,0 +10,0
10,0 = 11,0
11,0 + 15,0

1,0+4,0
45+5,0
50+7,0
7,0+9,0
9,0+11,0
11,0+ 13,0
13,0 =+ 15,0
15,0 = 19,0
19,0 = 25,0
25,0+30,0
30,0 = 35,0
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4000
4000
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4 000
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2000
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No

10500 3208
10500 3210
10500 3212
10500 3214

10500 4007
10500 4008
10500 4009
10500 4010
10500 4012
10500 4014
10500 4016
10500 4020

10500 4809
10500 4810
10500 4812
10500 4814
10500 4816
10500 4818
10500 4820
10500 4825
10500 4832
10500 4835
10500 4840



